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3apaua D. Cayxuresn Ha Mecena

@uxu u Kupo pabotar B ckian. Paborata UM e Ja npeHacsAT KallloHU OT €IUH KOHTEHHep

B JPYT.
N Ha Opoli KOHTeWHepH ca pa3MNoloKeHu B penuna Ha 1 mMeTbp eauH ot apyr. Lledst

3anoBsiiBa Ha @uku 1 Kupo ma mpeHecar KamioH OT €IWH KOHTEWHep B Apyr BBB (opmata "N;

N;", KbJIETO [ ¥ j ca TO3UIMKTE HAa HAYaIHUA ¥ Kpainus KonTelinep. Korato HAkoH OT JBamaTa
MIpeHece KallloH 10 KOKTO U Jla € KOHTEHHep, TOH TpsiOBa 1a OCTaHe TaM JI0 CJeaBaIiara 3amnoBe.

Tam e paboraTta, 4e U ABaMarta ca MbpP3EIUBH U UCKAT J1a CBBPIIAT C MUHUMAJIHU YCUJIHS.
Harnumere nmporpama, KosiTO MpecMaTa MUHUMAITHOTO pa3cTosinue, koeto @uku u Kupo TpsoBa
Ja U3MHUHAT B MCTPH, 3a 1a UBIIBJIHAT BCUYKHU 3alIOBECAN HA me(ba CH.

Bcsika 3anoBen Mmoxe ga Ob/ie M3ITBIIHEHA CaMO OT €IMH OT JIBaMarta.

HauvanHoTo pa3crosiHue Ha JBamMara paOOTHHUIM A0 TbPBUs UM KOHTelHep e 0.

Bxon

Ha mepBus pen BbB BXOIHUS (aiii € 3a7a1eHO0 YUCiIo ¢ — Opoi Ha TeCTOBUTE pUMEpH. 3a
BCEKH TECTOB NMpPUMEpP Ha MbpBUs pej ca uuciata N (Opoit koHTeitHepu) U M (Opoii 3amoBen),
pasnenenu ¢ uHTepBasl. Ha cienBamure M pena ca 3amoBeaute Ha meda BeB popmara "N; N;",
OIKCBAIIM Y€ KALIOH OT KOHTEHHep Ha Mo3uius i TpsiOBa aa ObJe mpemMecTeH B KOHTEHHEp Ha
MO3ULHUA j.

N3xon
3a BCEKM TECTOB MpUMEpP B H3XOMHUA (ailm ce H3BEeXKIa €IUH pEel, ChIbpPIKaI]
HpeCMeTHaTI/IH OTFOBOp.

Orpannyenns
1 <N, M<1000;
1<i,j<Ni#j.
IIpumep
Bxon Hsxon
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O0sicHeHne Ha mpuMepa
1. Pabotnuk 1 (P1) 3amouBa ot 2 u MecTH KaIioHa oT 2 Ha 6: 4 MeTpa.
2. Pabotnuk 2 (P2) 3amouBa ot 4 u MmecTH KamioHa oT 4 Ha 3: 1 MeTBbp.
3. Pl otuBa ot 6 1o 5 u mectu 5 Ha 2: 1 + 3 =4 metpa.
4. P2 e Beue Ha 3 u MecTu 3 Ha 5 = 2 meTpa.
OO610TO M3BBPBIHO pa3cToOsiHUE Ha ABaMara € 11 meTpa.
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Problem D. Employees of the month

Fiki and Kiro work at a warehouse. Their job is to carry boxes from one container to another.
There are N containers situated in a line and each one is 1 meter apart from its adjacent
containers. The boss gives orders to Fiki and Kiro to transport a box from one container to
another in the format "N; N;", where i and j are the positions of the start and destination
containers, respectively. When either worker carries a box to the destination container, he must
remain there until the next order.

The problem is that both of them are too lazy and want the job to be done with minimum effort.
Write a program that finds the minimum distance (in meters) they have to walk to execute their
boss' orders.

Every order can be executed by only one worker.

The initial travel distance of both workers to their starting positions is 0.

Input

On the first input line in the file the number of test cases T will be given. Each test case contains
on the first line two space-separated integers — N (number of containers) and M (number of
orders). The next M lines hold the orders of the boss, each in the format "Ni Nj", describing that a
box form container i should be moved to container j.

Output
For each test case print the answer - minimum distance the workers have to walk on a single
line.

Example
Input Output
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Explanation:
1. Worker 1 (W1) starts at 2 and moves box from 2 to 6: 4 meters.
2. Worker 2 (W2) starts at 4 and moves box from 4 to 3: 1 meter.
3. W1 walks 6 ->5 and moves 5 -> 2: 1 + 3 = 4 meters.
4. W2 is already at 3 and moves 3 -> 5 = 2 meters.

The total distance walked by both is 11 meters.





